
ESTRUCTURA : C. RUEDA TRASERA	
 

C. RUEDA TRASERA 

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description 

Ref. Título Código

1 CORONA DE TRANSMISION 89-55002-H136

2 MANCHON PORTA CORONA 89-55001-H136

3 BUJE PORTA CORONA 89-55008-G129

4 BUJE IZQUIERDO RUEDA TRASERA 89-51201-G129

5 PORTA CORONA 89-55100-G124

6 FUNDA INTERIOR, RUEDA TRASERA 89-51207-H136

7 O-RING 35 X 3 89-51221-0000

8 CUBIERTA TRASERA 2.75X17 89-51203-H136

9 CAMARA TRASERA 89-51204-H136

10 CHAPA SEGURO 89-55007-H136

11 TUERCA M12 X 1.25 89-B06180021201

12 TORNILLO M8 X 35 89-B05783000800

13 RETEN DE ACEITE 35X4.5X6 89-55005-G129

14 RAYOS 4.0X163.5, RUEDA TRASERA 89-51113-0000

                        1 / 2

https://cprrepuestos.com.ar/images/stories/virtuemart/product/rueda trasera.png


ESTRUCTURA : C. RUEDA TRASERA	
 

Ref. Título Código

15 MAZA TRASERA 89-51214-0000

16 ARO DE LLANTA TRASERA 89-51112-0000-2

17 RODAMIENTO 6201 89-92102-0000-2

18 RODAMIENTO 6303 89-92102-0000-3

19 LLANTA TRASERA ALEACION 89-51220-H136

20 BUJE IZQUIERDO RUEDA TRASERA 89-51225-H136

21 ZAPATA DE FRENO TRASERO 89-54204-G124

22 EJE DE RUEDA TRASERA M12 X 220 89-51281-G124

23 BUJE DERECHO, RUEDA TRASERA 89-51202-H136

24 TAPA DE MAZA TRASERA 89-54205-G124

25 PLACA, BRAZO DE FRENO TRASERO 89-54205-G124-1

26 LEVA FRENO TRASERO 89-54207-G124

27 LEVA INTERIOR FRENO TRASERO 89-54209-H136

28 RESORTE ZAPATA DE FRENO(TRASERO) 89-54201-G124

29 ARANDELA DE PROTECCION, TAMBOR DE FRENO 89-54210-G124

30 TORNILLO M6X35 89-B057830006-2

31 TIRA CADENA DERECHO 89-35012-G124

32 TIRACADENA IZQUIERDO 89-35011-G124

33 TUERCA RAYOS, ARO DE LLANTA 89-51124-H136-1

34 LLANTA TRASERA RAYOS ARMADA 89-900-3

35 RUEDA TRASE

 

 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        2 / 2

http://www.tcpdf.org

